D: RFB 6347											
tem	Description	Unit	Quantity	Reytec Construction Total	В	ay Ltd	Total N	MAX Underground Costruction	otal	JE CONSTRUCTION SERVICES	Total
Base Bid 1 - HMAC Pavement											
Part A - General											
A1		LS	1.00	\$0.00	\$0.00	\$5,000.00	\$5,000.00	\$7,905.00	\$7,905.00	\$10,640.00	\$10,640.0
A2	Bonds and	LS	1.00	\$0.00	\$0.00	\$21,500.00	\$21,500.00	\$55,800.00	\$55,800.00	\$20,520.00	\$20,520.0
	Clear Right-of-	_	2.80	\$0.00	\$0.00	\$29,800.00	\$83,440.00	\$3,410.00	\$9,548.00	\$30,430.00	\$85,204.0
4	Ozone Day	DAY	2.00	\$0.00	\$0.00	\$140.00	\$280.00	\$1,116.00	\$2,232.00	\$2.00	\$4.0
5	Survey	EA	2.00	\$0.00	\$0.00	\$450.00	\$900.00	\$3,193.00	\$6,386.00	\$650.00	\$1,300.
6	Traffic Control		1.00	\$0.00	\$0.00	\$33,000.00	\$33,000.00	\$26,660.00	\$26,660.00	\$37,930.00	\$37,930.
7	Traffic Control		12.00	\$0.00	\$0.00	\$2,900.00	\$34,800.00	\$1,023.00	\$12,276.00	\$1,260.00	\$15,120.
8	Message	EA	1.00	\$0.00	\$0.00	\$19,900.00	\$19,900.00	\$27,900.00	\$27,900.00	\$5,450.00	\$5,450.
9	Temporary	SY	500.00	\$0.00	\$0.00	\$18.00	\$9,000.00	\$64.23	\$32,115.00	\$76.00	\$38,000.
10	Block Sodding		4,150.00	\$0.00	\$0.00	\$9.80	\$40,670.00	\$7.95	\$32,992.50	\$12.00	\$49,800.
11	Silt Fence for		500.00	\$0.00	\$0.00	\$5.50	\$2,750.00	\$5.33	\$2,665.00	\$7.00	\$3,500.
112	Curb Inlet	EA	6.00	\$0.00	\$0.00	\$160.00	\$960.00	\$180.83	\$1,084.98	\$395.00	\$2,370.
113		LS	1.00	\$0.00	\$0.00	\$320.00	\$320.00	\$10,540.00	\$10,540.00	\$690.00	\$690.
\14 \	Allowance for	LS	1.00	\$0.00	\$0.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.
Sub Totals					\$0.00		\$282,520.00		\$258,104.48		\$300,528.
Part B - Street Improvements		Ī									
1	Mobilization	LS	1.00	\$0.00	\$0.00	\$16,000.00	\$16,000.00	\$42,780.00	\$42,780.00	\$33,074.00	\$33,074.0
2	Street	SY	6,853.00	\$0.00	\$0.00	\$11.25	\$77,096.25	\$14.97	\$102,589.41	\$20.00	\$137,060.
3	12" Lime	SY	6,853.00	\$0.00	\$0.00	\$18.00	\$123,354.00	\$15.97	\$109,442.41	\$28.00	\$191,884
4	8" Crushed	SY	6,853.00	\$0.00	\$0.00	\$28.00	\$191,884.00	\$30.15	\$206,617.95	\$33.00	\$226,149
5	Prime Coat	GAL	942.00	\$0.00	\$0.00	\$5.70	\$5,369.40	\$8.10	\$7,630.20	\$6.00	\$5,652
6	One Course	SY	6,277.00	\$0.00	\$0.00	\$4.30	\$26,991.10	\$5.94	\$37,285.38	\$5.00	\$31,385
37	3" HMACP	SY	6,277.00	\$0.00	\$0.00	\$31.00	\$194,587.00	\$41.38	\$259,742.26	\$28.00	\$175,756
8	6" Concrete	SF	632.00	\$0.00	\$0.00	\$26.00	\$16,432.00	\$12.77	\$8,070.64	\$14.00	\$8,848
9	6" Concrete	SF	100.00	\$0.00	\$0.00	\$62.00	\$6,200.00	\$33.48	\$3,348.00	\$17.00	\$1,700
10		SY	289.00	\$0.00	\$0.00	\$30.00	\$8,670.00	\$48.91	\$14,134.99	\$75.00	
11	Unanticipated		100.00	\$0.00	\$0.00	\$26.00	\$2,600.00	\$7.13	\$713.00	\$11.00	\$1,100
312	Asphalt	SY	52.00	\$0.00	\$0.00	\$260.00	\$13,520.00	\$79.05	\$4,110.60	\$235.00	\$12,220.
13	Concrete	SY	64.00	\$0.00	\$0.00	\$210.00	\$13,440.00	\$140.76	\$9,008.64	\$260.00	\$16,640
14	REFL PAV	LF	320.00	\$0.00	\$0.00	\$4.70	\$1,504.00	\$3.58	\$1,145.60	\$3.00	\$960.
15	REFL PAV	LF	45.00	\$0.00	\$0.00	\$11.75	\$528.75	\$8.44	\$379.80	\$7.00	\$315.
16	REFL PAV	LF	3,001.00	\$0.00	\$0.00	\$2.60	\$7,802.60	\$1.81	\$5,431.81	\$2.00	\$6,002
17	REFL PAV	LF	108.00	\$0.00	\$0.00	\$38.00	\$4,104.00	\$25.09	\$2,709.72	\$21.00	\$2,268.
18	TY II-A-A	EA	18.00	\$0.00	\$0.00	\$59.00	\$1,062.00	\$31.86	\$573.48	\$32.00	\$576.
19	TY II-B-B	EA	4.00	\$0.00	\$0.00	\$59.00	\$236.00	\$34.88	\$139.52	\$31.00	\$124.
20	Furnish and	EA	6.00	\$0.00	\$0.00	\$840.00	\$5,040.00	\$857.67	\$5,146.02	\$815.00	\$4,890.
21	Furnish and	EA	3.00	\$0.00	\$0.00	\$1,200.00	\$3,600.00	\$1,219.33	\$3,657.99	\$1,130.00	\$3,390.
22	Furnish and	EA	1.00	\$0.00	\$0.00	\$390.00	\$390.00	\$403.00	\$403.00	\$376.00	\$376.
23	Furnish and	EA	4.00	\$0.00	\$0.00	\$230.00	\$920.00	\$232.50	\$930.00	\$219.00	\$876.
324	Furnish and	EA	1.00	\$0.00	\$0.00	\$270.00	\$270.00	\$291.40	\$291.40	\$264.00	\$264.
		/ ∖		•							

B26	Furnish and	EA	2.00	\$0.00	\$0.00	\$470.00	\$940.00	\$37,920.00	\$75,840.00	\$455.00	\$910.00
B27	Furnish and	EA	1.00	\$0.00	\$0.00	\$330.00	\$330.00	\$378.00	\$378.00	\$340.00	\$340.00
B28	Furnish And	EA	19.00	\$0.00	\$0.00	\$630.00	\$11,970.00	\$634.00	\$12,046.00	\$620.00	\$11,780.00
B29	Allowance for		1.00	\$0.00	\$0.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
Sub Totals					\$0.00		\$790,161.10		\$998,775.82		\$951,528.00
Part C - ADA Improvements											
C1	Mobilization	LS	1.00	\$0.00	\$0.00	\$5,000.00	\$5,000.00	\$7,750.00	\$7,750.00	\$6,330.00	\$6,330.00
C2	4" Thick	SF	10,830.00	\$0.00	\$0.00	\$7.90	\$85,557.00	\$11.30	\$122,379.00	\$9.00	\$97,470.00
C3	Concrete Curb	SF	1,404.00	\$0.00	\$0.00	\$38.00	\$53,352.00	\$17.05	\$23,938.20	\$26.00	\$36,504.00
C4	Sidewalk	LF	50.00	\$0.00	\$0.00	\$112.00	\$5,600.00	\$19.22	\$961.00	\$69.00	\$3,450.00
C5	REFL PAV	LF	153.00	\$0.00	\$0.00	\$38.00	\$5,814.00	\$26.83	\$4,104.99	\$20.00	\$3,060.00
C6	Unanticipated	SF	100.00	\$0.00	\$0.00	\$26.00	\$2,600.00	\$7.13	\$713.00	\$9.00	\$900.00
C7	Allowance for	LS	1.00	\$0.00	\$0.00	\$22,000.00	\$22,000.00	\$22,000.00	\$22,000.00	\$22,000.00	\$22,000.00
Sub Totals					\$0.00		\$179,923.00		\$181,846.19		\$169,714.00
Part D - Storm Water Drainage Improvements	S										
D1		LS	1.00	\$0.00	\$0.00	\$7,600.00	\$7,600.00	\$15,810.00	\$15,810.00	\$21,120.00	\$21,120.00
D2	12" Dia. RCP		659.00	\$0.00	\$0.00	\$130.00	\$85,670.00	\$70.84	\$46,683.56	\$159.00	\$104,781.00
D3	15" Dia. RCP		62.00	\$0.00	\$0.00	\$130.00	\$8,060.00	\$70.00	\$4,340.00	\$124.00	\$7,688.00
D4	15" Dia. RCP		145.00	\$0.00	\$0.00	\$140.00	\$20,300.00	\$72.05	\$10,447.25	\$174.00	\$25,230.00
D5	18" Dia. RCP		370.00	\$0.00	\$0.00	\$170.00	\$62,900.00	\$74.23	\$27,465.10	\$196.00	\$72,520.00
D6		LF	127.00	\$0.00	\$0.00	\$390.00	\$49,530.00	\$173.04	\$21,976.08	\$416.00	\$52,832.00
D7	12" S.E.T.	EA	19.00	\$0.00	\$0.00	\$1,500.00	\$28,500.00	\$1,666.66	\$31,666.54	\$1,555.00	\$29,545.00
D8	15" S.E.T.	EA	5.00	\$0.00	\$0.00	\$1,700.00	\$8,500.00	\$2,232.00	\$11,160.00	\$1,815.00	\$9,075.00
D9	18" S.E.T.	EA	2.00	\$0.00	\$0.00	\$1,800.00	\$3,600.00	\$2,542.00	\$5,084.00	\$2,155.00	\$4,310.00
D10	Post Inlet	EA	2.00	\$0.00	\$0.00	\$7,700.00	\$15,400.00	\$3,410.00	\$6,820.00	\$5,995.00	\$11,990.00
D11	5' Standard	EA	4.00	\$0.00	\$0.00	\$8,500.00	\$34,000.00	\$3,069.00	\$12,276.00	\$7,185.00	\$28,740.00
D12	4' Dia.	EA	2.00	\$0.00	\$0.00	\$8,500.00	\$17,000.00	\$6,045.00	\$12,090.00	\$10,100.00	\$20,200.00
D13	6" Header	EA	50.00	\$0.00	\$0.00	\$69.00	\$3,450.00	\$18.60	\$930.00	\$12.00	\$600.00
D14	6" Concrete	LF	830.00	\$0.00	\$0.00	\$46.00	\$38,180.00	\$19.72	\$16,367.60	\$28.00	\$23,240.00
D15	Junction Box		1.00	\$0.00	\$0.00	\$19,300.00	\$19,300.00	\$30,008.00	\$30,008.00	\$21,940.00	\$21,940.00
D16	36" RCP Tie-	EA	1.00	\$0.00	\$0.00	\$1,600.00	\$1,600.00	\$2,728.00	\$2,728.00	\$5,211.00	\$5,211.00
D17	36" Dia.	EA	2.00	\$0.00	\$0.00	\$1,300.00	\$2,600.00	\$759.50	\$1,519.00	\$2,655.00	\$5,310.00
D18	Drainage Ditch	٦ LF	1,290.00	\$0.00	\$0.00	\$15.50	\$19,995.00	\$12.50	\$16,125.00	\$17.00	\$21,930.00
D19	Sidewalk	EA	4.00	\$0.00	\$0.00	\$1,700.00	\$6,800.00	\$961.00	\$3,844.00	\$3,785.00	\$15,140.00
D20	Trench Safety		1,363.00	\$0.00	\$0.00	\$2.20	\$2,998.60	\$7.11	\$9,690.93	\$7.00	\$9,541.00
D21	Trench Safety		9.00	\$0.00	\$0.00	\$490.00	\$4,410.00	\$2,838.22	\$25,543.98	\$940.00	\$8,460.00
D22	6" THK. Storm		10.00	\$0.00	\$0.00	\$900.00	\$9,000.00	\$533.20	\$5,332.00	\$1,860.00	\$18,600.00
D23		CY	7.00	\$0.00	\$0.00	\$630.00	\$4,410.00	\$116.91	\$818.37	\$470.00	\$3,290.00
D24		SY	13.00	\$0.00	\$0.00	\$30.00	\$390.00	\$28.62	\$372.06	\$56.00	\$728.00
D25	18" Headwall		1.00	\$0.00	\$0.00	\$9,100.00	\$9,100.00	\$1,860.00	\$1,860.00	\$9,460.00	\$9,460.00
D26	Additional UG		1.00	\$0.00	\$0.00	\$3,200.00	\$3,200.00	\$3,410.00	\$3,410.00	\$19,640.00	\$19,640.00
D27	Allowance for	LS	1.00	\$0.00	\$0.00	\$29,000.00	\$29,000.00	\$29,000.00	\$29,000.00	\$29,000.00	\$29,000.00
Sub Totals					\$0.00		\$495,493.60		\$353,367.47		\$580,121.00
Part E - Water Improvemente											
Part E - Water Improvements	Mobilization	•	1.00	ድ ስ ስስ	\$0.00	\$5,000.00	\$5,000.00	\$20,770.00	\$20,770.00	\$24,179.00	\$24,179.00
E1	6" Tie-In	LS	1.00 7.00	\$0.00 \$0.00	\$0.00 \$0.00	\$2,700.00	\$5,000.00	\$20,770.00	\$20,770.00 \$15,004.01	\$4,780.00 \$4,780.00	\$33,460.00
E2	0 116-111	EA	7.00	φυ.υυ	φυ.υυ	φ∠,/ 00.00	φ10,900.00	Φ ∠, 143.43	φ13,00 4 .01	Φ4,7 ου.υυ	φυυ, 4 00.00

E3	8" Dia. C900 Ll	F 1,576.00	\$0.00	\$0.00	\$83.00	\$130,808.00	\$49.21	\$77,554.96	\$82.00	\$129,232.00
E4	8" Dia. D.I. LI	F 587.00	\$0.00	\$0.00	\$110.00	\$64,570.00	\$81.34	\$47,746.58	\$142.00	\$83,354.00
E5	8" Dia. 11.25° E	1.00	\$0.00	\$0.00	\$550.00	\$550.00	\$1,252.40	\$1,252.40	\$1,015.00	\$1,015.00
E6	8" Dia. 22.5° E		\$0.00	\$0.00	\$550.00	\$2,200.00	\$1,550.00	\$6,200.00	\$1,070.00	\$4,280.00
E7	8" Dia. 45° D.I. _E		\$0.00	\$0.00	\$550.00	\$23,100.00	\$1,378.76	\$57,907.92	\$1,135.00	\$47,670.00
E8	8" Gate Valve E	== =	\$0.00	\$0.00	\$2,400.00	\$36,000.00	\$4,145.73	\$62,185.95	\$5,252.00	\$78,780.00
E9	·	EA 2.00	\$0.00	\$0.00	\$4,000.00	\$8,000.00	\$2,697.00	\$5,394.00	\$5,315.00	\$10,630.00
E10		A 7.00	\$0.00	\$0.00	\$840.00	\$5,880.00	\$1,678.43	\$11,749.01	\$1,655.00	\$11,585.00
E11		A 7.00	\$0.00	\$0.00	\$440.00	\$3,080.00	\$1,341.86	\$9,393.02	\$740.00	\$5,180.00
E12	Fire Hydrant E		\$0.00	\$0.00	\$7,100.00	\$28,400.00	\$9,827.00	\$39,308.00	\$9,760.00	\$39,040.00
E13			\$0.00	\$0.00	\$950.00	\$4,750.00	\$1,723.60	\$8,618.00	\$5,110.00	\$25,550.00
E14	40.144		\$0.00	\$0.00	\$1,100.00	\$13,200.00	\$2,025.33	\$24,303.96	\$5,130.00	\$61,560.00
E15	_	400.00	\$0.00	\$0.00	\$1,100.00	\$2,600.00	\$42.16	\$4,216.00	\$44.00	\$4,400.00
E16	A	200.00				\$2,000.00	\$5.86	\$2,109.60		\$9,360.00
E17	Abandon in LI		\$0.00	\$0.00	\$8.30		\$6.20		\$26.00	
	Abandon in LI	•	\$0.00	\$0.00	\$15.00	\$25,500.00		\$10,540.00	\$29.00	\$49,300.00
E18	Trench Safety L		\$0.00	\$0.00	\$2.50	\$5,407.50	\$6.88	\$14,881.44	\$9.00	\$19,467.00
E19	Allowance for L	S 1.00	\$0.00	\$0.00	\$36,000.00	\$36,000.00	\$36,000.00	\$36,000.00	\$36,000.00	\$36,000.00
Sub Totals				\$0.00		\$416,933.50		\$455,134.85		\$674,042.00
Part F - Wastewater Improvements										
F1	Mobilization L		\$0.00	\$0.00	\$20,000.00	\$20,000.00	\$40,300.00	\$40,300.00	\$25,640.00	\$25,640.00
F2	Remove and LI		\$0.00	\$0.00	\$460.00	\$23,000.00	\$18.60	\$930.00	\$405.00	\$20,250.00
F3	Rehab _{Ll}	.F 963.00	\$0.00	\$0.00	\$170.00	\$163,710.00	\$552.04	\$531,614.52	\$149.00	\$143,487.00
F4	Rehab LI	F 396.00	\$0.00	\$0.00	\$170.00	\$67,320.00	\$527.06	\$208,715.76	\$151.00	\$59,796.00
F5	Remove E	5.00	\$0.00	\$0.00	\$7,000.00	\$35,000.00	\$1,922.00	\$9,610.00	\$6,250.00	\$31,250.00
F6	Rehabilitate E	A 1.00	\$0.00	\$0.00	\$21,800.00	\$21,800.00	\$6,262.00	\$6,262.00	\$18,920.00	\$18,920.00
F7	4' Dia. E	5.00	\$0.00	\$0.00	\$24,300.00	\$121,500.00	\$9,672.00	\$48,360.00	\$21,155.00	\$105,775.00
F8		/F 15.00	\$0.00	\$0.00	\$730.00	\$10,950.00	\$1,005.00	\$15,075.00	\$630.00	\$9,450.00
F9	_	S 1.00	\$0.00	\$0.00	\$79,500.00	\$79,500.00	\$34,100.00	\$34,100.00	\$207,110.00	\$207,110.00
F10	O! T: 1	EA 6.00	\$0.00	\$0.00	\$710.00	\$4,260.00	\$1,860.00	\$11,160.00	\$615.00	\$3,690.00
F11	O! T: 1	EA 2.00	\$0.00	\$0.00	\$200.00	\$400.00	\$248.00	\$496.00	\$170.00	\$340.00
F12	Trench Safety E	-/ ·	\$0.00	\$0.00	\$1,100.00	\$5,500.00	\$979.60	\$4,898.00	\$965.00	\$4,825.00
F13	Adjust Existing E		\$0.00	\$0.00	\$2,500.00	\$2,500.00	\$1,922.00	\$1,922.00	\$2,176.00	\$2,176.00
F14	Wastewater E		\$0.00	\$0.00	\$500.00	\$8,500.00	\$1,542.71	\$26,226.07	\$440.00	\$7,480.00
F15	Wastewater E		\$0.00	\$0.00	\$350.00	\$5,950.00	\$1,256.41	\$21,358.97	\$300.00	\$5,100.00
F16	8" Dia. PVC	-, (\$0.00	\$0.00	\$520.00	\$24,960.00	\$50.89	\$2,442.72	\$444.00	\$21,312.00
F17	Allowance for L		\$0.00	\$0.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
Sub Totals	, mowaniechon L	.5	ψ0.00	\$0.00	ψ 10,000.00	\$634,850.00		\$1,003,471.04	Ψ-0,000.00	\$706,601.00
oub rotals				ψ0.00		ψ00+,000.00		ψ1,000,471.04		Ψ100,001.00
Port C. Coo Improvements										
Part G - Gas Improvements	Mobilization	1.00	\$0.00	ቀለ ለለ	¢2 200 00	¢2 200 00	Ф 7 // ОО	¢744.00	¢2.220.00	<u></u> ቀኅ ኅኅባ ባባ
G1	Mobilization L		\$0.00	\$0.00	\$2,200.00	\$2,200.00	\$744.00	\$744.00	\$2,220.00	\$2,220.00
G2	Trenching/Bac L		\$0.00	\$0.00	\$21.00	\$44,940.00	\$3.71	\$7,939.40	\$20.00	\$42,800.00
G3	Adjust Existing E		\$0.00	\$0.00	\$1,300.00	\$6,500.00	\$756.40	\$3,782.00	\$1,810.00	\$9,050.00
G4	Allowance for L	S 1.00	\$0.00	\$0.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
Sub Totals				\$0.00		\$58,640.00		\$17,465.40		\$59,070.00
Grand Total				\$0.00		\$2,858,521.20		\$3,268,165.25		\$3,441,604.00

ID: RFB 6347											
Item	Description	Unit	Quantity	Reytec Construction	Total	Bay Ltd	Total	MAX Underground Costruction	Total	JE CONSTRUCTION SERVICES	Total
Base Bid 2 - Concrete Pavement											
Part A - General											
A1	Mobilization	LS	1.00	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$7,905.00	\$7,905.00	\$10,640.00	\$10,640.00
A2	Bonds and	LS	1.00	\$75,000.00	\$75,000.00	\$22,330.00	\$22,330.00		\$55,800.00	\$20,480.00	\$20,480.00
A3	Clear Right-of		2.80	\$11,000.00	\$30,800.00	\$28,750.00	\$80,500.00	\$3,410.00	\$9,548.00	\$30,430.00	\$85,204.00
A4	Ozone Day	DAY	2.00	\$500.00	\$1,000.00	\$140.00	\$280.00	\$1,116.00	\$2,232.00	\$2.00	\$4.00
A5	Survey	EA	2.00	\$1,500.00	\$3,000.00	\$440.00	\$880.00	\$3,193.00	\$6,386.00	\$650.00	\$1,300.00
A6	Traffic Control		1.00	\$13,000.00	\$13,000.00	\$32,700.00	\$32,700.00	\$26,660.00	\$26,660.00	\$37,930.00	\$37,930.00
A7	Traffic Control	^I мо	12.00	\$17,000.00	\$204,000.00	\$2,800.00	\$33,600.00	\$1,023.00	\$12,276.00	\$1,260.00	\$15,120.00
A8	Message	EA	1.00	\$10,000.00	\$10,000.00	\$19,700.00	\$19,700.00	\$27,900.00	\$27,900.00	\$5,450.00	\$5,450.00
A9	Temporary	SY	500.00	\$70.00	\$35,000.00	\$18.00	\$9,000.00	\$64.23	\$32,115.00	\$76.00	\$38,000.00
A10	Block Sodding	SY	4,150.00	\$7.00	\$29,050.00	\$9.70	\$40,255.00	\$7.95	\$32,992.50	\$12.00	\$49,800.00
A11	Silt Fence for	LF	500.00	\$5.00	\$2,500.00	\$6.80	\$3,400.00	\$5.33	\$2,665.00	\$7.00	\$3,500.00
A12	Curb Inlet	EA	6.00	\$110.00	\$660.00	\$160.00	\$960.00	\$180.83	\$1,084.98	\$395.00	\$2,370.00
A13	Storm Water	LS	1.00	\$17,000.00	\$17,000.00	\$320.00	\$320.00	\$10,540.00	\$10,540.00	\$690.00	\$690.00
A14	Allowance for	LS	1.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
Sub Totals					\$471,010.00		\$278,925.00		\$258,104.48		\$300,488.00
Part B - Street Improvements											
B1	Mobilization	LS	1.00	\$50,000.00	\$50,000.00	\$16,000.00	\$16,000.00	\$42,780.00	\$42,780.00	\$33,074.00	\$33,074.00
B2	Street	SY	6,853.00	\$15.00	\$102,795.00	\$11.00			\$102,589.41	\$12.00	\$82,236.00
B3	12" Lime	SY	6,853.00	\$30.00	\$205,590.00	\$17.75			\$109,442.41	\$28.00	\$191,884.00
B4	6" Thick	SY	6,408.00	\$115.00	\$736,920.00	\$93.00			\$968,889.60	\$75.00	\$480,600.00
B5	6" Concrete	SF	632.00	\$32.00	\$20,224.00	\$26.00			\$8,070.64	\$14.00	\$8,848.00
B6	6" Concrete	SF	100.00	\$35.00	\$3,500.00	\$62.00	\$6,200.00		\$3,348.00	\$17.00	\$1,700.00
B7	2" Mill and	SY	289.00	\$40.00	\$11,560.00	\$29.00	\$8,381.00		\$14,134.99	\$75.00	\$21,675.00
B8	Unanticipated	SF	100.00	\$9.00	\$900.00	\$26.00	\$2,600.00		\$713.00	\$11.00	\$1,100.00
B9	Asphalt	SY	52.00	\$145.00	\$7,540.00	\$250.00			\$4,110.60	\$235.00	\$12,220.00
B10	Concrete	SY	64.00	\$230.00	\$14,720.00	\$200.00			\$9,008.64	\$260.00	\$16,640.00
B11	REFL PAV	LF	320.00	\$3.00	\$960.00	\$4.70			\$1,145.60	\$3.00	\$960.00
B12	REFL PAV	LF	45.00	\$7.00	\$315.00	\$11.75			\$379.80	\$7.00	\$315.00
B13	REFL PAV	LF	3,001.00	\$2.00	\$6,002.00	\$2.60			\$5,431.81	\$2.00	\$6,002.00
B14	REFL PAV	LF	108.00	\$23.00	\$2,484.00	\$37.00			\$2,709.72	\$21.00	\$2,268.00
B15	TY II-A-A	EA	18.00	\$29.00	\$522.00	\$58.00			\$573.48	\$32.00	\$576.00
B16	TY II-B-B	EA	4.00	\$39.00	\$156.00	\$58.00			\$139.52	\$31.00	\$124.00
B17	Furnish and	EA	6.00	\$750.00	\$4,500.00	\$830.00			\$5,146.02	\$815.00	\$4,890.00
B18	Furnish and	EA	3.00	\$1,040.00	\$3,120.00	\$1,200.00	\$3,600.00		\$3,657.99	\$1,130.00	\$3,390.00
B19	Furnish and	EA	1.00	\$350.00	\$350.00	\$380.00	\$380.00		\$403.00	\$376.00	\$376.00
B20	Furnish and	EA	4.00	\$200.00	\$800.00	\$220.00			\$930.00	\$219.00	\$876.00
B21	Furnish and	EA	1.00	\$240.00	\$240.00	\$270.00			\$291.40	\$264.00	\$264.00
B22	Furnish and	EA	1.00	\$290.00	\$290.00	\$320.00	\$320.00		\$29,230.00	\$314.00	\$314.00
B23	Furnish and	EA	2.00	\$420.00	\$840.00	\$460.00			\$75,840.00	\$455.00	\$910.00
B24	Furnish and	EA	1.00	\$325.00	\$325.00	\$360.00			\$378.00	\$340.00	\$340.00
B25	Furnish And	EA	19.00	\$560.00	\$10,640.00	\$620.00	\$11,780.00	\$634.00	\$12,046.00	\$620.00	\$11,780.00

B26	Allowance for	LS	1.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00		\$70,000.00	\$70,000.00
Sub Totals					\$1,255,293.00		\$976,978.10		\$1,471,389.63		\$953,362.00
Part C - ADA Improvements			4.00	* 40.000.00	* 40.000.00	# 5 000 00	# 5 000 00	47.750.00	47.750.00	40.000.00	* • • • • • • • • • • • • • • • • • • •
C1	Mobilization	LS	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$7,750.00		\$6,330.00	\$6,330.00
C2	4" Thick	SF	10,830.00	\$16.00	\$173,280.00	\$7.80	\$84,474.00	\$11.30		\$9.00	\$97,470.00
C3	Concrete Curb		1,404.00	\$48.00	\$67,392.00	\$38.00	\$53,352.00	\$17.05		\$26.00	\$36,504.00
C4	Sidewalk REFL PAV	LF	50.00	\$56.00 \$33.00	\$2,800.00	\$110.00	\$5,500.00 \$5,661.00	\$19.22		\$69.00	\$3,450.00
C5	Unanticipated	LF	153.00 100.00	\$23.00 \$5.00	\$3,519.00 \$500.00	\$37.00 \$26.00	\$5,661.00 \$2,600.00	\$26.83 \$7.13	\$4,104.99 \$713.00	\$20.00 \$9.00	\$3,060.00 \$900.00
C6 C7	Allowance for		1.00	\$22,000.00	\$22,000.00	\$22,000.00	\$2,000.00	\$22,000.00		\$22,000.00	\$22,000.00
Sub Totals	Allowance for	LS	1.00	φ22,000.00	\$279,491.00	φ22,000.00	\$178,587.00	φ22,000.00	\$181,846.19	\$22,000.00	\$169,714.00
oub rotals					Ψ213,431.00		ψ170,507.00		Ψ101,040.19		ψ103,114.00
Part D - Storm Water Drainage Improvemen	nts										
D1	B.4. 1.11. (*	LS	1.00	\$15,000.00	\$15,000.00	\$7,600.00	\$7,600.00	\$15,810.00	\$15,810.00	\$21,120.00	\$21,120.00
D2		LF	659.00	\$125.00	\$82,375.00	\$130.00	\$85,670.00	\$70.84	\$46,683.56	\$159.00	\$104,781.00
D3		I.F	62.00	\$136.00	\$8,432.00	\$130.00	\$8,060.00	\$70.00	\$4,340.00	\$124.00	\$7,688.00
D4		I.F	145.00	\$140.00	\$20,300.00	\$140.00	\$20,300.00	\$72.05	\$10,447.25	\$174.00	\$25,230.00
D5	18" Dia. RCP	I.F	370.00	\$170.00	\$62,900.00	\$170.00	\$62,900.00	\$74.23	\$27,465.10	\$196.00	\$72,520.00
D6	36" Dia. RCP	I.F	127.00	\$315.00	\$40,005.00	\$390.00	\$49,530.00	\$173.04	\$21,976.08	\$416.00	\$52,832.00
D7	12" S.E.T.	EA	19.00	\$1,300.00	\$24,700.00	\$1,500.00	\$28,500.00	\$1,666.66	\$31,666.54	\$1,555.00	\$29,545.00
D8	15" S.E.T.	EA	5.00	\$1,350.00	\$6,750.00	\$1,600.00	\$8,000.00	\$2,232.00	\$11,160.00	\$1,815.00	\$9,075.00
D9	18" S.E.T.	EA	2.00	\$1,600.00	\$3,200.00	\$1,800.00	\$3,600.00	\$2,542.00	\$5,084.00	\$2,155.00	\$4,310.00
D10	Post Inlet	EA	2.00	\$5,300.00	\$10,600.00	\$7,600.00	\$15,200.00	\$3,410.00	\$6,820.00	\$5,995.00	\$11,990.00
D11	5' Standard	EA	4.00	\$5,500.00	\$22,000.00	\$8,400.00	\$33,600.00	\$3,069.00	\$12,276.00	\$7,185.00	\$28,740.00
D12	4' Dia.	EA	2.00	\$6,500.00	\$13,000.00	\$8,400.00	\$16,800.00	\$6,045.00	\$12,090.00	\$10,100.00	\$20,200.00
D13	6" Header	EA	50.00	\$50.00	\$2,500.00	\$69.00	\$3,450.00	\$18.60	\$930.00	\$12.00	\$600.00
D14	6" Concrete	LF	830.00	\$6.00	\$4,980.00	\$45.00	\$37,350.00	\$19.72	\$16,367.60	\$28.00	\$23,240.00
D15	Junction Box	EA	1.00	\$18,200.00	\$18,200.00	\$19,100.00	\$19,100.00	\$30,008.00	\$30,008.00	\$21,940.00	\$21,940.00
D16	36" RCP Tie-	EA	1.00	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$2,728.00	\$2,728.00	\$5,211.00	\$5,211.00
D17	36" Dia.	EA	2.00	\$1,000.00	\$2,000.00	\$1,300.00	\$2,600.00	\$759.50	\$1,519.00	\$2,655.00	\$5,310.00
D18	Drainage Ditch	LF	1,290.00	\$10.00	\$12,900.00	\$15.25	\$19,672.50	\$12.50	\$16,125.00	\$17.00	\$21,930.00
D19	Sidewalk	EA	4.00	\$4,600.00	\$18,400.00	\$1,700.00	\$6,800.00	\$961.00	\$3,844.00	\$3,785.00	\$15,140.00
D20	Trench Safety	LF	1,363.00	\$3.00	\$4,089.00	\$2.20	\$2,998.60	\$7.11	\$9,690.93	\$7.00	\$9,541.00
D21	Trench Safety		9.00	\$100.00	\$900.00	\$490.00	\$4,410.00	\$2,838.22	\$25,543.98	\$940.00	\$8,460.00
D22	6" THK. Storm	SY	10.00	\$156.00	\$1,560.00	\$890.00	\$8,900.00	\$533.20	\$5,332.00	\$1,860.00	\$18,600.00
D23	12" Graded	CY	7.00	\$325.00	\$2,275.00	\$620.00	\$4,340.00	\$116.91	\$818.37	\$470.00	\$3,290.00
D24	6 OZ. Non-	SY	13.00	\$5.00	\$65.00	\$30.00	\$390.00	\$28.62	\$372.06	\$56.00	\$728.00
D25		EA	1.00	\$4,500.00	\$4,500.00	\$9,000.00	\$9,000.00	\$1,860.00		\$9,460.00	\$9,460.00
D26	Additional UG		1.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00	\$3,410.00	\$3,410.00	\$19,460.00	\$19,460.00
D27	Allowance for	LS	1.00	\$29,000.00	\$29,000.00	\$29,000.00	\$29,000.00	\$29,000.00		\$29,000.00	\$29,000.00
Sub Totals					\$414,631.00		\$492,571.10		\$353,367.47		\$579,941.00
Dest E-Materille		Ī									
Part E - Water Improvements	Mobilinetie		4.00	#05.000.00	¢25 000 00	ቀ ፫ ሰብላ ሰብ	#E 000 00	MOO 770 00	¢20.770.00	Φ0.4.4 7 0.00	604 470 00
E1	Mobilization	LS	1.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00 \$18,200.00	\$20,770.00		\$24,179.00	\$24,179.00
E2	6" Tie-In	EA	7.00	\$4,500.00	\$31,500.00 \$311,184,00	\$2,600.00	\$18,200.00	\$2,143.43		\$4,780.00	\$33,460.00
E3	8" Dia. C900	LF	1,576.00	\$134.00 \$225.00	\$211,184.00 \$132,075,00	\$82.00 \$110.00	\$129,232.00 \$64.570.00	\$49.21 \$91.34	\$77,554.96 \$47,746.58	\$82.00 \$142.00	\$129,232.00 \$83.354.00
E4	8" Dia. D.I.	LF	587.00	\$225.00 \$710.00	\$132,075.00 \$710.00	\$110.00 \$550.00	\$64,570.00 \$550.00	\$81.34 \$1.352.40		\$142.00 \$1.015.00	\$83,354.00 \$1,015.00
E5	8" Dia. 11.25°	EA	1.00	\$710.00	\$710.00	\$550.00	\$550.00	\$1,252.40	\$1,252.40	\$1,015.00	\$1,015.00

Grand Total				\$3,809,690.00		\$3,028,701.40		\$3,740,779.06		\$3,443,218.00
Sub Totals				\$99,640.00		\$58,640.00		\$17,465.40		\$59,070.00
G4	Allowance for LS	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
3 3	Adjust Existing EA	5.00	\$580.00	\$2,900.00	\$1,300.00	\$6,500.00	\$756.40	\$3,782.00	\$1,810.00	\$9,050.00
G2	Trenching/Bac LF	2,140.00	\$41.00	\$87,740.00	\$21.00	\$44,940.00	\$3.71	\$7,939.40	\$20.00	\$42,800.0
S1	Mobilization LS	1.00	\$4,000.00	\$4,000.00	\$2,200.00	\$2,200.00	\$744.00	\$744.00	\$2,220.00	\$2,220.0
art G - Gas Improvements										
JUNE 1 OLGIU				\$000,700.00		ψ301,770.00		ψ1,000,±11.0 1		Ψ1 00,001.0
ub Totals	Amenda for L2	1.00	Ψ+0,000.00	\$650,750.00	ψ 10,000.00	\$631,770.00		\$1,003,471.04	Ψ+0,000.00	\$706,601.0
17	Allowance for LS	1.00	\$40,000.00		\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	
16	Wastewater _{EA} 8" Dia. PVC _{LF}	48.00	\$360.00	\$17,000.00	\$540.00 \$510.00	\$24,480.00	\$1,230.41 \$50.89	\$2,442.72	\$444.00	
15	- , ·	17.00	\$1,000.00	\$17,000.00	\$340.00	\$5,780.00	\$1,256.41	\$20,226.07 \$21,358.97	\$300.00	\$7,460.0 \$5,100.0
14	147 ()	17.00	\$1,000.00	\$1,900.00	\$500.00	\$8,500.00	\$1,922.00 \$1,542.71	\$1,922.00 \$26,226.07	\$440.00	
· 12 · 13	Adjust Existing EA	1.00	\$1,900.00	\$2,500.00	\$1,100.00	\$2,500.00	\$1,922.00	\$4,696.00 \$1,922.00	\$2,176.00	\$4,625.0 \$2,176.0
 12	8" Tie-In EA Trench Safety EA	2.00 5.00	\$1,850.00 \$500.00	\$3,700.00 \$2,500.00	\$190.00 \$1,100.00	\$380.00 \$5,500.00	\$248.00 \$979.60	\$496.00 \$4,898.00	\$170.00 \$965.00	\$340.0 \$4,825.0
F10	8" Tie-In EA	6.00	\$1,800.00 \$1,850.00	\$10,800.00	\$700.00 \$100.00	\$4,200.00	\$1,860.00 \$248.00	\$11,160.00 \$406.00	\$615.00 \$170.00	
F9 E40	Bypass LS	1.00	\$40,000.00	\$40,000.00	\$78,600.00	\$78,600.00	\$34,100.00	\$34,100.00 \$11,160.00	\$207,110.00	
⁻ 8 -0	Extra Depth VF	15.00	\$500.00	\$7,500.00	\$720.00	\$10,800.00	\$1,005.00 \$34,100.00	\$15,075.00 \$34,100.00	\$630.00	
- 7 -0	4' Dia. EA	5.00	\$16,000.00	\$80,000.00	\$24,100.00	\$120,500.00	\$9,672.00	\$48,360.00	\$21,155.00	
6	Rehabilitate EA	1.00	\$18,000.00	\$18,000.00	\$21,500.00	\$21,500.00	\$6,262.00	\$6,262.00	\$18,920.00	
5	Remove EA	5.00	\$3,000.00	\$15,000.00	\$7,000.00	\$35,000.00	\$1,922.00	\$9,610.00	\$6,250.00	\$31,250.0
⁻ 4	Rehab LF	396.00	\$270.00	\$106,920.00	\$170.00	\$67,320.00	\$527.06	\$208,715.76	\$151.00	
	Rehab LF	963.00	\$250.00	\$240,750.00	\$170.00	\$163,710.00	\$552.04	\$531,614.52	\$149.00	
2	Remove and LF	50.00	\$48.00	\$2,400.00	\$460.00	\$23,000.00	\$18.60	\$930.00	\$405.00	
art F - Wastewater Improvements	Mobilization LS	1.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$40,300.00	\$40,300.00	\$25,640.00	
				\$000,010.00		ψ 111,200.20		ψ 100, 10 1.00		ψοι τ,υτΖ.
Sub Totals	Allowance for LS	1.00	\$36,000.00	\$36,000.00 \$638,875.00	\$36,000.00	\$36,000.00 \$411,230.20	\$36,000.00	\$36,000.00 \$455,134.85	\$36,000.00	\$36,000.0 \$674,042.0
118 119	Trench Safety LF	2,163.00	\$2.00	\$4,326.00	\$2.40	\$5,191.20	\$6.88	\$14,881.44	\$9.00	\$19,467.0
17	Abandon in LF	1,700.00	\$14.00	\$23,800.00	\$14.75	\$25,075.00	\$6.20	\$10,540.00	\$29.00	\$49,300.0
16	Abandon in LF	360.00	\$20.00	\$7,200.00	\$8.20	\$2,952.00	\$5.86	\$2,109.60	\$26.00	
15	Remove LF	100.00	\$35.00	\$3,500.00	\$26.00	\$2,600.00	\$42.16	\$4,216.00	\$44.00	\$4,400.0
14	1" Water EA	12.00	\$1,400.00	\$16,800.00	\$1,100.00	\$13,200.00	\$2,025.33	\$24,303.96	\$5,130.00	\$61,560.
≣13	1" Water EA	5.00	\$1,100.00	\$5,500.00	\$940.00	\$4,700.00	\$1,723.60	\$8,618.00	\$5,110.00	\$25,550.
E12	Fire Hydrant EA	4.00	\$12,200.00	\$48,800.00	\$7,000.00	\$28,000.00	\$9,827.00	\$39,308.00	\$9,760.00	\$39,040.
<u> </u>	8" x 6" D.I. EA	7.00	\$590.00	\$4,130.00	\$430.00	\$3,010.00	\$1,341.86	\$9,393.02	\$740.00	\$5,180.0
≣10	8" x 8" D.I. EA	7.00	\$950.00	\$6,650.00	\$830.00	\$5,810.00	\$1,678.43	\$11,749.01	\$1,655.00	\$11,585.0
59	8" Tie-in EA	2.00	\$4,500.00	\$9,000.00	\$3,900.00	\$7,800.00	\$2,697.00	\$5,394.00	\$5,315.00	\$10,630.0
8	8" Gate Valve EA	15.00	\$2,700.00	\$40,500.00	\$2,300.00	\$34,500.00	\$4,145.73	\$62,185.95	\$5,252.00	\$78,780.0
7	8" Dia. 45° D.I. EA	42.00	\$700.00	\$29,400.00	\$540.00	\$22,680.00	\$1,378.76	\$57,907.92	\$1,135.00	\$47,670.